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25. Odgovor:____ 3500 J _______ 
 
Postupak: 

 
mgh = Ek + ΔE         1 bod 

 
ΔE = mgh – Ek = 10 kg∙10 m s-2∙80 m – 4500 J = 3500 J  1 bod 

 

 
26. Odgovor:___ 3,7 N ________ 

 
Postupak: 
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27. Odgovor:___ 10-2 m3 (10 L) ________ 

 

Postupak: 
 

W = p∙ ΔV          1 bod 
 
ΔV = W/p = 103 J / 105 Pa = 10-2 m3     1 bod 

 



28. Odgovor:____ Z = 400 Ω _______ 

 
Postupak: 

 
Z = RL – RC          1 bod 
 

Z = 600 Ω - 200 Ω = 400 Ω       1 bod 
 

 
29. Odgovor:____ C = 3,5 pF _______ 

 

Postupak: 
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30. Odgovor:____ v = 0,87 c = 2,6∙108 m/s _______ 
 
Postupak: 
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31. Odgovor:_____ m1 = 1 kg ______ 

 
Postupak: 

 

F = ma         1 bod 
 

F = m1g – Ftr        1 bod 
 



m1g – Ftr = (m1 + m2)a       1 bod 

 
m1 = 1 kg         1 bod 

 
 
 

32. Odgovor:____ 900 J/kg K _______ 
 

 
Postupak: 
 

Q = mcΔT        1 bod  
 

ΔT = 40 °C = 40 K       1 bod 
        

Q = mvcvΔT + mAlcAlΔT      1 bod  
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33.  
33.1. Odgovor:_____ Ui = 0,08 V = 80 mV ______ 

 
Postupak: 

 

 Ui = Blv      1 bod 
 

 Ui = 5∙10-3 T ∙ 0,8 m ∙ 20 m/s    1 bod 
 

 Ui = 0,08 V = 80 mV    1 bod 
 

 

33.2.         1 bod 
 

 
 
 

 
 

 
 

 

34. Odgovor:___ λ = (646 ± 30) nm ________ 
 

Postupak: 
 

λ λ λ λ
λ 1 2 3 4+ + +
=

4
     1 bod 

 

+ 
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λ=646 nm      1 bod 

 

 Δλ λ λmax 3= - =30 nm     1 bod 

 

  λ λ Δλmax= ± = 646±30  nm   1 bod 

 
35. Odgovor:_____ P=350 W  ______ 

 

Postupak: 
 

maksT=C                                                       1bod    
 
T=500 K                                                       1bod   

 
 P=σST4                                                               1bod   
   
P=350 W                                                    1bod   
 


